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1. Find the sum of all prime from 13 to 25?

13 mes 25 lekeâ keâer DeYeepÙe mebKÙee keâe Ùeesie %eele keâjes?

(a) 71
(b) 72
(c) 73
(d) 83

By Alok Gupta Sir



Direction : There are two pairs,the first follows some relationship.
Use the some relationship to find the second analogy of second
pair.

2. MAN : NLBZOM : : WINE : ?

(a) VXHTOMFD
(b) XVH JOMDF
(c) XVJHOMFD
(d) None of these
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3. Find the LAST DIGIT of first 100 whole num bers?

henues 100 mechetCe& mebKÙee keâe DeeefKejer Debkeâ %eele keâjes?

(a) 0
(b) 1
(c) 2
(d) 3
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4. If P is a sum of all primes from 23 to 38 then 'P' is di vided
by 7 find Re main der?

Ùeefo P 23 mes 38 lekeâ kesâ DeYeepÙe mebKÙeeDeeW keâe Ùeesie nw lees P keâes 7 mes Yeeie keâjves
hej Mes<eheâue keäÙee nesiee?
(a) 4
(b) 3
(c) 2
(d) 1
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Direction : There are two pairs,the first follows some relationship.
Use the some relationship to find the second analogy of second
pair.

5. BNC : DZPLEA : : MLB : ?

(a) OKJNDZ
(b) KONJZD
(c) OKZDJN
(d) OKNJDZ
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6. Find the LAST DIGIT of a num ber  77779999.

77779999 DeeefKejer Debkeâ %eele keâjes?
(a) 2
(b) 4
(c) 3
(d) 5
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7. Find the to tal prime No's from 1 to 105?

1 mes 105 kesâ yeerÛe efkeâleveer DeYeepÙe mebKÙee nw?

(a) 25
(b) 28
(c) 27
(d) 29
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Direction : There are two pairs,the first follows some relationship.
Use the some relationship to find the second analogy of second
pair.

8. IJK : LMN : : QRD : ?

(a) TUV
(b) VUT
(c) TVW
(d) WTU
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9. If a num ber   7357 3293 1173 is di vided by 4 find
re main der.

7357 3293 1173  keâes 4 mes Yeeie osves hej Mes<eheâue keäÙee nesiee?

(a) 2
(b) 3
(c) 4
(d) 5
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10. Find the LAST DIGIT of a num ber  ( )4 144/DeeefKejer Debkeâ %eele
keâjes?
(a) 4
(b) 5
(c) 6
(d) 7
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Direction : There are two pairs,the first follows some relationship.
Use the some relationship to find the second analogy of second
pair.

11. JCB : NGF : : XPL : ?

(a) BTP
(b) TBP
(c) BPT
(d) TPB
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12. How many num bers which are di vis i ble by 7 from 1 to
150?
1 mes 150 kesâ yeerÛe ceW efkeâleveer mebKÙeeSs nw pees 7 mes Yeeie ngF& nw?
(a) 20
(b) 21
(c) 22
(d) 23
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13. NCRT : XMBD : : ? : LVDI

(a) LBYT
(b) BLTY
(c) LTBT
(d) BLTY
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14. Find the re main der is num ber  ( )77 1001 is di vided by 78
/Mes<eheâue %eele keâerefpeS?
(a) 76
(b) 77
(c) 1
(d) 0
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15. 13 : 17 : 23 : ?

(a) 92
(b) 30
(c) 29
(d) 31

By Alok Gupta Sir



16. The sum of twice of a num ber and thrice of 42 is 238.
What will be the sum of thrice of that num ber and twice
of 42?
efkeâmeer mebKÙee kesâ ogiegves Je 42 kesâ leerve iegves keâe pees[ 238 nw leye mebKÙee kesâ efleiegves Je
42 kesâ ogiegves keâe pees[ nesiee~
(a) 424
(b) 250
(c) 264
(d) 252
(e) None of these

By Alok Gupta Sir



17. 64 : 16 : : 27 : ?

(a) 9
(b) 8
(c) 10
(d) 7
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18. The sum of two even num bers is 6 more than twice of the
smaller num ber. If the dif fer ence be tween these two
num bers is 6, which is def i nitely the smaller num ber?
oes mece mebKÙeeDeeW keâe peesÌ[ Úesšer mebKÙee kesâ ogiegves mes 6 pÙeeoe nw Je Fve oesvees
mebKÙeeDees keâe Deblej 6 nw Úesšer mebKÙee keäÙee nw?
(a) 18
(b) 20
(c) Data pro vided are not ad e quate to an swer the

ques tion
(d) 12
(d) 24
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19. The prod uct of two suc ces sive even num bers is 6888.
Which is the greater of the two num bers?
leerve ›eâceeiele mece mebKÙeeDeeW keâe iegCeve 6888 nw leye meyemes yeÌ[er mebKÙee yeleeDees~
(a) 78
(b) 82
(c) 86
(d) 90
(e) None of these
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20. 8 : 24 : : ? : 51

(a) 17
(b) 18
(c) 20
(d) 16
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21. The sum of five con sec u tive odd num bers is 575. What is
the sum of the next set of the con sec u tive odd num bers?
hebeÛe ›eâceeiele efJemece mebKÙeeDeeW keâe Ùeesie 575 nw leye Deieueer 5 efJe<ece mebKÙeeDeeW
keâe Ùeesie yeleeDees~
(a) 615
(b) 635
(c) 595
(d) can not be de ter mined
(e) None of these
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22. 5 : 10 : : ? : 32

(a) 16
(b) 8
(c) 64
(d) 40
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23. If the nu mer a tor of a frac tion is in creased by 20% and its

de nom i na tor by 25%, then the frac tion so ob tained is 3
5

.

What is the orig i nal frac tion?

Ùeefo efkeâmeer efYevve keâe DebMe 20% Je nj 25% yeÌ{eÙee peeS lees efYevve keâe ceeve 3
5

nes

peelee nw~ cetue efYevve yeleeDees~

(a) 3
5

(b) 3
8

(c) 5
8

(d) can not be de ter mined
(e) None of these

By Alok Gupta Sir



24. HCF of two num bers each of 4 dig its is 103 and their LCM
is 19261. Sum of the num bers is
efkeâvner 4 heoerÙe oes mebKÙeeDeeW keâe ce0me0 103 Je ue0me0 19261 nw oesvees
mebKÙeeDeeW keâe Ùeesie~
(a) 2884
(b) 2488
(c) 4288
(d) 4882
(e) None of these
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25. 6 : 64 : : 9 : ?

(a) 112
(b) 121
(c) 120
(d) 102
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